Mul-Pos-L1 Setl!

Question 1 [25 marks] Question 2 [25 marks]
0. 8 x 10 =80 0: 6 x 10 =60
Lixd=__ 1 3X9=
22 10x1l=___ 2. 7TxX9=
33X9=___ 32 TX8=
4: 6 x 10 = 4 9x3=
5 7TxX4d=_ 5 12 x5 =
6: TX8=__ 6: 10 x 3=
T2X0=_ 7. 11 x5 =
8 TXb=___ 8 I X 8=
9. 3x10=__ 9: DX 8=
10: TX8=__ 10: 7X6=
m:3x3=_ 11: 6 x 11 =
12: 12x9=__ 12: 11 X 8 =
13: TX2=__ 13: 11 x4 =
4: 9X9=___ 14: 12 x 3 =
15:9xd=___ 15: 7T X6 =
6 3XT7T=____ 16: H X 2=
12X 7= 17: 3 X 6 =
18 H5xXxb=__ 18: 8 X 12 =
19: 12X 8=__ 19: 3 X 2=
200 6x10=____ 20: 11 X 7=
21: 8X2=__ 21: 11 X 5 =
22 3 x4d=__ 22: 8 X 12 =
23 8X4d=__ 23: 2 x 11 =
2%4: 4x10=____ 24: 9 X 8=
25: 3X3=__ 25: T X4 =
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Question 3  [25 marks] Question 4  [25 marks]
0 7Tx2=14 0: 10 x 11 = 110
L8x4d=__ :4x9=
2 7TX6=___ 2 6x4=
3 dx1l=_ 3 2xX9=
4 10x8=___ 4 10 x 12 =
5 3x10=___ 5 8X 2=
6: 11 x10=____ 6: 4 X 8=
72O0X9=___ 7. 9x4d=
8 2XH=___ 8 O XH=
9 11 x12=__ 9: Tx 4=
10 TX2=__ 10: 3 x 10 =
m4dx1l=__ 11: DX 9=
12 12x1l=_ 12 6 X 8 =
13: 10X = 13: 12 x4 =
4 0xX4d=___ 14: 5D x 11 =
5: 12x6=__ 15: 12 x 3 =
6: 11 x7=___ 16: 8 x 10 =
1 2X6=_ 17 9 X 8 =
18 2Xx6=___ 18: O X 3 =
19: 2X2=__ 19: DX 7=
200 I0Xx2=___ 20: 12 X 8 =
20 TxX4d=__ 21: 8§ X 3 =
222 2%x12=__ 22: 3 X 2=
23 3X3=__ 23: 6 X 8 =
2%4: 9x3=__ 24: 9 x 9=
25: 9Ix10=___ 25: 6 X 11 =

008 7 September 2014 2
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Question 5 [25 marks] Question 6 [25 marks]
0: 8X9=72 0: 5x 8 =40
Lixd=__ 1 12x2=
2 1Ix1l=_ 2 2x 11 =
33X9=___ 34X 6=
4:0xX4d=___ 4: 4 x 8=
54dx4d=_ 5 HX8=
6: 6x11=___ 6: 8X 9=
7 TX6=__ 7. 7Tx4=
8 OX3=___ g 11 x 7=
9 3x9=___ 9: 2X 9=
10: 2Xd=___ 10: 6 X 6=
m:6x2=___ 11: 3 X 8 =
12 11 x6=____ 122 4 X 7=
13:Hx10=_ 13: 8§ X 12 =
4 8x1l=__ 14: 8 X 8 =
5 12x6=___ 15: H X 3=
6: 10 x12=__ 16: 3 x 12 =
17 9xd=_ 17 9 X 7=
8 ox1l=_ 18: 4 x 11 =
19: 8X3=___ 19: 12X 8 =
200 Tx10=____ 20: 2 X 12 =
20: 3X9=___ 21: 4 X 2 =
222 6 x6=__ 22: 7 x 10 =
23 OXT7T=__ 23: 6 X 9=
24: 10x 11l =____ 24: 10 x 4 =
25: 12X 7= 25: 9 X 8 =

008 7 September 2014 3
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Question 7 [25 marks] Question 8 [25 marks]
0 3x4=12 0: 2x10=20
L3IX6b=___ 1 6 X 8=
2:0X2=___ 2 DX H=
3 12x5=__ 32 TX8=
4: 8X3=___ 4 7T x4 =
5 10x12=___ 5 9x 4=
6: dX6=__ 6: 10 x 11 =
723X9=___ 7 3x 11 =
8 12x2=__ 8 HX3J=
92 0X9=___ 9: DX 2=
10: TX2=___ 10: 11 x 2 =
1m:8x6=__ 11: DX 8 =
12: TX8=___ 12: 8 X 7=
13: 8x12=___ 13: 3 X 8=
14: 10xd5=____ 14: 8 X H =
5: 8x10=___ 15: 4 x4 =
6: 6xd6=__ 16: 77X 9=
1 1I0x1l=_ 17 9 x 3 =
18 OXT=___ 18 4 X 7=
19 2X7T=___ 19: 3 x 12 =
200 2X9=___ 20: H X 12 =
21 6X3=__ 21: 10 X 8 =
222 9x9=___ 22: 3 X 2=
2: TX2=___ 23: 8 X 10 =
24: 8x12=___ 24: 10 x 10 =
25: OX 12 =__ 25: 2 X 6=

008 7 September 2014 4
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Question 9  [25 marks] Question 10 |25 marks]
0: 11 X6 =66 0: 9x8=T72
L4X8=_ 1 O X 6=
28X T7T=__ 2 4X6=
3 8X6=___ 3 10 x 10 =
4:6xX9=____ 4: 10 X 7=
5 11x10=_ 5 12x 9=
6: 2X4d=__ 6: 9 X 8=
7 12XxX2=_ 7. 12 x5 =
8 12x2=__ 8 8X H=
9 11 x12=___ 9: 11 x 9 =
10: 4xd5=____ 10: 4 X 6=
m:6x4=____ 11: 9x 3 =
12 4x10=_ 12: 11 X6 =
3 1l x1l=_ 13: 12X 2=
4: 2X3=___ 14: 4 X 8 =
5: 12x9=___ 15: 6 X 12 =
6: 10 x3=____ 16: 9 X 8 =
17 8X2=_ 17: 12 x 10 =
18 Hx10=_ 18: H X 4=
19: 09X 2=__ 19: 6 X H =
200 12x4=__ 20: 4 x 12 =
21: 10 xH=___ 21: 3 X b =
22 Ox4d=__ 22: DX 8=
23 3X8=__ 23: 6 X b=
24: 12x11l=____ 24: 5 X 8=
25: 12Xx6=___ 25: 2 X 8=

008 7 September 2014 5
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Question 11 |25 marks] Question 12 [25 marks]

0: 11 X 6 =66 0: 4 x 10 =40
L3x12=_ L 7Tx4=
2 10Xx8=___ 2 9x 11 =
33xl=_ 3 11 X6 =
4: TX6b=___ 4 6x6=
5 11x10=_ 5 9X5H=
6: 9IX3=__ 6: 6 x4 =
23IX3=_ 7. 8% 3=
8 8x12=___ 8 3 X 2=
9 2XT=_ 9: 8X 5=
10: 3x12=__ 10: 7x 11 =
1m: 10x9=___ 1: 4 x4 =
122 8X2=__ 122 4 X 8 =
13: 9x8=__ 13: 11 x 11 =
4: 8X2=__ 14: 12X 7=
5 1lxd=_ 15: 10 x 4 =
6: 8X2=__ 16: 4 x 11 =
mHOXT=_" 17 § X 8 =
188X 7= 18 3 X 7=
19 Tx11l=__ 19: 10 X 5 =
200 DX 3=__ 20: 11 X 7=
21 6Xb=__ 21: § X 2 =
222 11 X7 = 22: 4 X 7=
23 AX6=__ 23: 11 x4 =
2%4: 1l xd=__ 24: 9 x4 =
2 TXx6=__ 25: 4 X 5 =

008 7 September 2014 6
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Question 13 |25 marks] Question 14 |25 marks]

0. 6 x14 =84 0: o x 10 =50
L1ox6=___ 1 13X 6=
22 9x15=_ 2 DX H=
3 0x10=_ 32 12x 9=
4 12x11=__ 4 12 x 11 =
5 Ix1l=_ 5 14 X6 =
6: 11 x7=__ 6: 11 x5 =
7 Tx1l=_ 7. TX12=
g dxT7T=_ 8 8 X 6=
9 TX8=__ 9: 3 X 8=
10: 3X3=____ 10: 4 X8 =
m4dx4d=___ 1: 13 x9 =
122 3Xd=___ 12: 8§ X 12 =
3 4dx4d=__ 13: 8 X 7=
4 1bx1d=__ 14: 8§ x 14 =
B OXd=__ 15: 9x 10 =
6: 12x5=___ 16: 11 X9 =
1mm 3Ix10=_ 17 8 x 12 =
18 1hx12=__ 18: 14 x 14 =
19: 8x14d=__ 19: 7x 10 =
200 6X3=___ 20: 7 x 10 =
21: 15 x10=___ 21: § X 4 =
22 OX8=__ 22: 4 X 3 =
23 6xX15=___ 23: 15 X 5 =
24: 12%x12=___ 24: 14 x 14 =
25: 11 x9=__ 25: 13 X 13 =

008 7 September 2014 7
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Question 15 |25 marks] Question 16 |25 marks]

0: 10 x 13 =130 0: 9x8=T72
L 13x13=__ 1 4x14 =
2 X T7T=_ 2. 13 x 10 =
30X13=_ 3 11 x 9=
4 6x14=__ 4: 13 x 10 =
5 6x12=__ 5 11 x 15 =
6: 4XT=___ 6: DX 3=
TOX8=__ 7. 13 x 15 =
g M4dx10=_ 8 13 x 13 =
9 15 x13=___ 9: 9x 11 =
10: 8x12=__ 10: 14 x 11 =
m:4x3=__ 11: 3 x 14 =
12 11 x8=___ 122 b X 3=
13:9x10=_ 13: HX 7=
14 12x10=__ 14: 11 x 15 =
15 Tx10=___ 15: 3 x 14 =
6: 6x12=__ 16: 4 x4 =
1 6Xb=___ 17 13 x 12 =
18 8xd=_ 18 6 X 7=
19: 14 x8=__ 19: 13 X 3 =
200 12Xxd6=____ 20: 12 x4 =
21: IO x1l=____ 21: 15 X 15 =
22 6Xx4=__ 22: 10 X 8 =
23 8xX6=__ 23: 5 X 14 =
24: 13x12=___ 24: 10 x 12 =
25: 12X 9=__ 25: 10 X 15 =

008 7 September 2014 8
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Question 17 |25 marks] Question 18 [25 marks]

0: 11 x 10 = 110 0. 11 x 11 =121
L 14dxlb=_ 1: 6x14=
2 7TxX12=__ 2. 11 x5 =
3 10xb=___ 32 4 x 10 =
43X T=___ 4: 11 x 8=
5 7TX3=__ 5 4x4=
6: 11 x11=__ 6: 9 x 15 =
7211 x15=___ 7. 9x 10 =
8 13x3=___ 8 13 x4 =
9 11 x6=___ 9: 8 X 8=
10: 1I0x 7= 10: 15 X6 =
1m:4x15=__ 1: 13 x 7=
122 10Xx3 = 122 6 X 15 =
13: 10x 7= 13: DX H=
4 4dx4d=___ 14: 7T x 11 =
5:OX (= 15: 10 X 13 =
6: IXT=___ 16: 11 x 10 =
1 11x15=_ 17: 15 x 9 =
18 15x16=__ 18 7T X5 =
9 I x1l=_ 19: 6 X 3 =
200 3X6=__ 20: 11 X 7=
21 U x14=__ 21: 4 X 7=
222 14 x12=___ 22: 10 x 14 =
23 10 x8=__ 23: § X 9=
24: 11 x13=_____ 24: 6 X 6=
25: 13 x3=___ 25: 150 X 14 =

008 7 September 2014 9
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Question 19 |25 marks] Question 20 |25 marks]

0: 11 x 13 =143 0. Tx11 =77
L12x1l=_ L 9XT7T=
29x183=_ 2. 15 x 12 =
36X T=___ 3 12 x 13 =
4 12x8=__ 4: 15 x4 =
5 9x3=__ 54X 3=
6: I0x3=__ 6: 4 xX 7=
72 9x4d=__ 7. 9x4d=
8 3x10=_ 8 13 x5 =
9 3X3=_ 9: 12 X 7 =
10: 11 x9=___ 10: 15 x 14 =
1m: 9x15=_ 11: 6 x4 =
12 4x6=___ 122 4 X 15 =
13: 9x183=__ 13: 4 X 3=
4 11 x1b=__ 14: 15 x 9 =
5 Tx12=_ 15: 12 x 12 =
6: 3Xd=__ 16: Hx 10 =
i IIx1d=_ 17 § X 9 =
18 10x1l=_ 18: 5 x 14 =
19:9x11l=_ 19: 4 x 14 =
200 1I0x14=___ 20: 6 x 14 =
21: Ibx14d=__ 21: 9 X H =
222 3X9=___ 22: 6 X 6=
23 9x6=__ 23: 12 X 3 =
24: 88X 13=___ 24: 10 X 8 =
25: AX3=__ 25: 11 x 11 =

008 7 September 2014 10
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Question 21 |25 marks] Question 22 |25 marks]

0: 4 x 14 = 56 0: 15 x 14 =210
LHx1l=___ 1 15 x 13 =
2 10x14=_ 2. 12 x 14 =
3 8x13=_ 312 x 12 =
4 7TxX12=___ 4 14 x11 =
5 3x12=__ 5 0% 14 =
6: 13x15=___ 6: 8 X 15 =
2 A4x13=_ 7. 6 x12 =
g dx1d=_ 8 7T x 15 =
9 ITx1l=_ 9: 12 x 11 =
10: 13x12=___ 10: 13 x 12 =
1m:ox13=_ 1: 7 x 13 =
12: 6x14=__ 122 9x 11 =
13: 10x183 = 13: 5 x 11 =
4 10x1l=__ 14: 7T x 14 =
5 Mdx1d=_ 15: 3 X 15 =
6: TxX15=___ 16: 11 x 14 =
1 3Ix12=_ 17: 15 x 14 =
8 3x1l=_ 18: 4 x 12 =
19: 8x14d=__ 19: 8 x 14 =
200 12x13=___ 20: 8 X 12 =
21: 9x13=__ 21: 12 X 12 =
222 13 x 13 = 22: 15 x 14 =
23 11 x12=___ 23: 12 x 11 =
2%4: (X 14d=__ 24: 3 X 15 =
25 3Xx14=_ 25: 8 X 15 =

008 7 September 2014 11
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Question 23 |25 marks] Question 24 |25 marks]

0. 6 x14 =84 0: 15 x 11 =165
L 14x12=__ 1 14 x 14 =
2 12x13=_ 2. 0 X 12 =
3 3x1l=_ 326 x 14 =
4 3x1l=___ 4 14 x 13 =
5 13x15=___ 5 7x 11 =
6 bx1l=__ 6: 7 x 14 =
m4dx1l=_ 7. 9x 15 =
8 12x15=___ 8 3 x 14 =
9. 8x13=_ 9: 4 x 11 =
0 11 x1l=_ 10: 10 x 15 =
m: 10x14d=_ 1: 11 x 15 =
122 10x12=___ 122 8 x 11 =
13:6x14=__ 13: 8 X 15 =
14: 3x15=__ 14: 12 x 13 =
5 9Ix13=_ 15: 14 x 14 =
6: 14x11=_ 16: O X 11 =
1 ITx12=_ 17: 8 X 13 =
18 8x13=__ 18: 14 x 15 =
19: 12x11l=_ 19: Hx 13 =
200 11 x16=___ 20: 7Tx 13 =
21 MU x1l=__ 21: 7 X 14 =
22 TX14=___ 22: 10 x 11 =
2: ITx11l=__ 23: 7T X 13 =
24: 12x11l=____ 24: 13 X 15 =
25: 12x15=___ 25: 12 x 11 =

008 7 September 2014 12
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Question 25 |25 marks] Question 26 |25 marks]

0: 15 x 14 = 210 0: 0 x 12 =60
L12x12=__ 1 14 x 15 =
2 10x15=____ 2. 10 x 15 =
3 M4x15=_ 3 13 x 14 =
4 ¥3x4=_ 4 12 x 12 =
5 12x14=_ 5 12 x 11 =
6: 1O x15=___ 6: 7 x 14 =
26x12=___ 7. 10 x 13 =
g Tx1l=_ 8 14 x 13 =
9 I0x11l=___ 9: 14 x 14 =
0: 12x11=_ 10: 12 x 11 =
m: 10x1l=_ 1m: 11 x 11 =
122 8x15=___ 122 7x 13 =
13:0x12=__ 13: 8 X 15 =
4: 3x12=__ 14: 6 x 12 =
o dx1l=_ 15: 6 x 11 =
6: Ix1d=__ 16: 12 X 15 =
1 ITx14d=_ 17: Tx 13 =
8 Tx1l=_ 18: 6 X 15 =
19: 6x13=___ 19: 3 x 12 =
200 10x16=___ 20: 3 X 15 =
21: 13 x16=____ 21: 14 X 13 =
222 10x12=___ 22: 12 x 11 =
23 9x15=___ 23: 3 X 12 =
24: 12x13=____ 24: 13 x 11 =
25: 11 x13=___ 25: 3 X 13 =

008 7 September 2014 13
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Question 27 |25 marks] Question 28 |25 marks]

0: 3 x 15 =145 0: 9 x 14 =126
L12x12=__ 11 x 14 =
2 4x13=_ 2. 12 x 14 =
3 M4dx12=_ 3 13 x 13 =
4 3x1l=___ 4: 15 x 13 =
5 9x14d=_ 5 7T X 15 =
6: 12x15=___ 6: O X 15 =
7 11x15=___ 7. 10 x 11 =
g 3x1l=_ 8 12 x 14 =
9 0Xx15=_ 9: 14 x 15 =
0 M4x14=_ 10: 6 x 13 =
1m:6x15=__ 1: 7 x 12 =
12:4x14d=_ 12: 13 x 15 =
13 13x183=_ 13: 9 x 11 =
14 12x12=__ 14: 15 x 11 =
5:3x12=_ 15: 14 x 12 =
6: b x1d=__ 16: 14 X 13 =
1 Hx15=_ 17 13 x 12 =
18 Tx1d=_ 18: 8 X 14 =
19:4x12=__ 19: 13 x 11 =
200 9x11l=__ 20: 4 X 15 =
21: I0x 11l =___ 21: 14 x 11 =
22 6 x13=____ 22: 9 x 11 =
23 8x13=___ 23: 9 x 15 =
24: 13x12=___ 24: 12 x 13 =
25: 3x 11l=__ 25: 7T X 13 =

008 7 September 2014 1
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Question 29 |25 marks] Question 30 [25 marks]

0: 2x8=16 0: 16 x 11 = 176
LHx12=__ 1: 20 x 19 =
228X 15=_ 2. DX 8=
32316 x18=___ 36X 7=
4 9x16=___ 4: 5 X 17 =
5 17x19=___ 5 9xX6=
6: 19x4d=__ 6: 2x 19 =
3X6=__ 7. 11 x 11 =
8 2X2=___ 8 17 x 15 =
9 9x13=_ 9: 19 x 10 =
10: 10x9=___ 10: 17 x 3 =
1m: 199x12=__ 11: 18 x 19 =
122 2X3=___ 12: 18 X 5 =
13: 8x12=___ 13: 10 x 13 =
4 11 x19=___ 14: 9xX 7=
5: 199 =___ 15: 13 x 20 =
6: 18 x11=___ 16: 4 X 8 =
1 11x16=_ 17: 13 X 16 =
18 4x16=_ 18: 2 x 12 =
19:2x10=____ 19: 13 x 12 =
200 5 x16=___ 20: 7 X 16 =
21: 8x20= 21: 15 x4 =
222 16 x13=___ 22: 3 X 12 =
2: 8x11l=__ 23: 6 X 9=
2%: 3x16=___ 24: 4 X 15 =
25: 20x 13 = 25: 19 X 2 =

008 7 September 2014 15
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Question 31 |25 marks] Question 32 |25 marks]

0: 20 x 9 = 180 0: 12 x 19 = 228
L 17Tx6=____ 1: 20X 3=
2 15x15=_ 2. 2x 10 =
3 8x4=____ 3 13 x 9=
4 8X3=___ 4: 12 x 18 =
5 3x12=__ 5 16 x 15 =
6: (T xX12=__ 6: 11 x 10 =
T IX2=__ 7. 10 X 6 =
8 Ix18=__ 8 20 x 11 =
9 12x3=_ 9: 13 x5 =
10 18x12=___ 10: 11 x 18 =
m: 9x7=__ 11: 4 X5 =
12: 15 x16=__ 122 7x 19 =
13: 10x6=___ 13: 17 x9 =
4 4x2=___ 14: 6 x 19 =
5:3x4d=_ 15: 8 X 2 =
6: 9X7T=___ 16: 11 X 16 =
m 8XT=__ 17 9x 14 =
s 13x1l=_ 18: 2 x 20 =
19: 7Tx10=____ 19: 11 x 19 =
200 10x9=___ 20: 13 x 14 =
21: 19x 17 =___ 21: 17 x 17 =
22 OXx14=__ 22: 14 x 10 =
23 11 xH=___ 23: 4 X 2=
2%4: 16 xX2=___ 24: 16 x 14 =
25: 12x14=__ 25: 3 X 2=

008 7 September 2014 16
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Question 33 |25 marks] Question 34 |25 marks]

0: 10 x 12 =120 0: 14 x 7= 098
L 12x20=_ 1 17 x 16 =
2:23x20=___ 2. 7 x 20 =
3 3x20=__ 3. 7T x20=
4ox1l=__ 4: 20X 7=
58X T=__ 5 12 x 19 =
6: 1I9x9=_____ 6: 6 X 7=
7:12x19=___ 7. 3 X 16 =
8 16x13=____ 8 8 X 18 =
9 15x6=___ 9: 2x 19 =
10 14x16=____ 10: 3 X8 =
1 17x1d=__ 11: 2 x 20 =
122 9x15=___ 12: 18 X 12 =
13: 10x16=__ 13: b x 17 =
1 1Ixd=__ 14: 4 X5 =
I x1l=_ 15: 2 X H =
6: 6x17=___ 16: 12 x 14 =
17 1I0x 7= 17 4 X 5 =
18 13x20=__ 18: 5 X 16 =
19: 1I8x 13 =___ 19: 12 X6 =
200 11 x11l=__ 20: H X 8 =
21: I8 x 17 =__ 21: 18 X 5 =
22 12x19=__ 22: 6 X 13 =
2 4dxd=_ 23: 19 x 19 =
24: 15 x10=____ 24: 20 x 11 =
25: 2X2=___ 25: 13 x 10 =

008 7 September 2014 17
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Question 35 |25 marks] Question 36 |25 marks]

0: 6 x 18 = 108 0: 12 x 14 = 168
L4X8=__ 1 12x8=
2:0X2=___ 2: 4 X 3=
3 17Tx15=_ 3 12 x 8 =
4:2x15=__ 4: 19 x 15 =
5 18x19=__ 5 14 x 9=
6: 1I8x3=__ 6: 2 X 17 =
7 12x6=__ 7. 6 X 13 =
8 IX9=__ 8 7TX6=
9. 10x19=____ 9: 2X 5=
10: 3X2=___ 10: 18 x 12 =
1m: 14x20=__ 1: 2 x 11 =
1224xX9=__ 12: 3 X 2=
13: 12X 7= 13: 5 x 20 =
14 17Tx19=___ 14: 5 x 20 =
5 15x19=___ 15: 14 x 17 =
6: 4X3 = 16: 11 x 17 =
1 4dxXx2=__ 17: 18 X 6 =
18 4x2=_ 18: 6 x 20 =
19: 19x10 = 19: 2 X5 =
200 15X T = 20: 18 X 10 =
21: 20x 12 =_ 21: 14 X 15 =
222 2 X 17 = 22: 13 X 2 =
23 Ibx1l=___ 23: 10 X 13 =
24: 14dx5=___ 24: 10 X 3 =
25 Tx10=____ 25: 14 x 13 =

008 7 September 2014 18
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Question 37 |25 marks] Question 38 |25 marks]

0: 8§ x 18 =144 00 4x 11 =44
L9x1l=__ 1: 3 X 15=
23x17T=_ 2. 8§ x 11 =
32x14=_ 3 10 x4 =
4 1Tx6=____ 4: 17T x 9=
5 1bx16=___ 5 12 x 3 =
6: 18X 7T=___ 6: 12 x 3 =
T2OX8=_ 7. ox 11 =
8 0x3 = 8: 4 X 6=
9. 9x13=_ 9: 6 X 7=
0 11 x17=____ 10: 15 x 17 =
m:8x14d=__ 11: 9xH =
122 Tx15=___ 12: 14 x 20 =
13: 8X8=__ 13: 3 x4 =
4 ITx17T=___ 14: 16 X 9 =
5 18x4d=__ 15: 20 X 7=
6: 18 x6=____ 16: 9 x 16 =
17 1bx19=__ 17 § X 8 =
18 17x16=___ 18: 10 x 9 =
19: 20x 15 = 19: 11 x9 =
200 TXH=__ 20: 11 x 11 =
21: 9x 11 =__ 21: 20 x 11 =
222 15 x19=___ 22: 12 X 5 =
23 12x2=__ 23: 17 X 5 =
24: 11 xX3=__ 24: 18 x 11 =
25: OX20=___ 25: 9 X 13 =

008 7 September 2014 19
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Question 39 |25 marks] Question 40 [25 marks]

0: 17 x 17 = 289 0: 16 x 15 = 240
L9x9=__ 1 15 x 16 =
2 15x12=__ 2 9x2=
36x17T=_ 3 2x 10 =
4 8x20=___ 4: 4x12 =
5 12x16=___ 5 17 x 16 =
6: 17Tx 17 = 6: 8 X 12 =
2 A4X2=__ 7. 15 x 14 =
8 17Tx3=___ 8 13 x 19 =
oo I x11l=_ 9: 16 x 3 =
10: 6x18=__ 10: b x 13 =
m: 20x 11l=___ 11: 20 x 20 =
122 2x183=_ 12: 11 x 20 =
13:8x16=___ 13: 8 X 16 =
14 20x 17= 14: 13 x 10 =
5 11 x20=__ 15: 8 X 17 =
6: 6x19=___ 16: 2 X 2=
1 2x4d=_ 17: 19 x5 =
w8 dx1l=_ 18: 7 x 16 =
190 20x 13 = 19: 9xX 6 =
200 10x16=___ 20: 6 x 19 =
21: 9x 15 =____ 21: 20 X 7 =
222 17Tx4=__ 22: 11 X 18 =
23 2XH=__ 23: 16 X 8 =
2: OX13=____ 24: 10 x 13 =
25: SX 17T = 25: 9 X 15 =

008 7 September 2014 20
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Question 41 |25 marks] Question 42 |25 marks]

0. 11 x 14 =154 0. 9x19=171
L3x18=_ 1 Hx 1l =
2 19x15=____ 2. §x 14 =
3 19x12=___ 3 19 x 19 =
4 9x183=__ 4: 5 xX 15 =
5 TxX18=_ 5 11 x 14 =
6: 4x20=__ 6: 4 x 13 =
7 18x20=__ 7. 20 X 16 =
8 6x16=____ g 11 x 17 =
9 8x1l=_ 9: 3 X 17 =
0 10x17=___ 10: 11 x 19 =
1m:8x16=__ 11: 9 x 12 =
12 10x17=_ 12: 16 X 12 =
13:20x12=__ 13: 20 X 20 =
14 Tx20=____ 14: 12 x 11 =
15: 20x 12 = 15: 14 x 11 =
6: 13 x16=___ 16: 20 X 15 =
17 Tx16=___ 17: 9 x 18 =
18 18x17T=_ 18: 17 x 19 =
19: 10 x16 = 19: 8 x 19 =
200 6 x11=___ 20: 15 X 13 =
21: 3x12=__ 21: 19 X 16 =
222 11 x18=__ 22: 14 X 15 =
23 11 x16=___ 23: 19 X 18 =
24: 13 x20=_ 24: 6 X 16 =
25: OX13=___ 25: 9 X 18 =

008 7 September 2014 21
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Question 43 |25 marks] Question 44 |25 marks]

0: & x 16 = 80 0: 10 x 14 = 140
Lox4=__ 1 20 x 17 =
2 7x19=___ 2. 17 x 16 =
34x12=_ 3 3x 12 =
4 8x12=__ 4: 16 x 15 =
5 9x14d=_ 5 17 x 16 =
6: 3xXx13=___ 6: 8 x 13 =
72 19x20=__ 7. 5 X 17 =
g Ibhx1l=___ 8 4 x 18 =
9. 9%x19=____ 9: 7x 19 =
10: 6x15=____ 10: 15 x 16 =
1m: 9x183=_ 1: 12 x 11 =
12 16 x18=___ 12: 13 x 15 =
13:6x13=___ 13: 6 X 16 =
14 14x16=__ 14: 11 x 17 =
5 9x1l=_ 15: O x 14 =
16: 13x16=____ 16: 9x 11 =
17 20x17=__ 17: 8 X 15 =
18 6x15=___ 18: 20 X 17 =
19: 8x20=__ 19: 14 x 20 =
200 10x 17=__ 20: 8 X 18 =
21: 8 X 18 =__ 21: 13 x 19 =
222 IO X 18 =__ 22 Tx 12 =
2. 8x14=__ 23: 5 X 12 =
24: 18X 18=__ 24: 18 X 17 =
25: I0x 13 = 25: 6 X 14 =
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Question 45 |25 marks] Question 46 |25 marks]

0: 8§ x 18 =144 0. 7Tx13=91
L 10x183=__ 1 16 x 13 =
26x12=__ 2. 20 x 18 =
3 17x19=____ 3 12x 12 =
4 19x12=___ 4 5 x 11 =
5 14x13=_ 5 6 X 17 =
6: 6x11=___ 6: 15 x 17 =
7 Tx20=___ 7. 10 x 17 =
8 20x20=__ 8 3 x 20 =
9 19x 17 = 9: 14 x 12 =
10: 8x14d=__ 10: 19 x 15 =
1m:4x19=___ 11: 8 X 15 =
12: 11 x20=___ 122 4 X 15 =
13: 6x19=__ 13: 10 x 14 =
4 11 x16=___ 14: 9 x 13 =
5 6x17T=___ 15: 12 x 14 =
6: 4 x18=____ 16: 4 x 17 =
1 13x20= 17: 19 x 19 =
18 11x1b=_ 18: 10 x 12 =
19: 14 x18=___ 19: 13 x 13 =
200 3 x16=___ 20: 20 X 12 =
21: I8 X 18 = _ 21: 6 X 14 =
22 TX14=___ 22: 12 X 18 =
23 TX1h=___ 23: 20 X 15 =
2%4: TX13=___ 24: 16 X 19 =
25: 17T x18=___ 25: 20 X 15 =

008 7 September 2014 23



Mul-Pos-L1 Setl!

Question 47 |25 marks] Question 48 [25 marks]

0: 10 x 14 = 140 0. 6 x12=172
L 1lxlb=__ 1 15 x 13 =
24x13=_ 2: 6 x 15 =
30Xx20=____ 3 12 x 18 =
adx17T=___ 4: 9x 16 =
50X 12=__ 56 X 15 =
6: oxX11l=___ 6: 16 x 11 =
7276x19=__ 7. 18 x 12 =
& Ibx16=___ 8 13 x 19 =
9. 0x16=___ 9: 12 x 12 =
10: 9 x20=___ 10: 4 X 18 =
m: I x1d=_ 11: 18 x 19 =
1226 x18=___ 12: 18 x 13 =
13:H5x19=___ 13: 5 X 16 =
4: 50x16=___ 14: 10 x 13 =
5: 8x12=__ 15: 11 x 20 =
6: 15X 18=___ 16: 16 X 18 =
1 11 x20=__ 17 11 x 14 =
8 3x1d=_ 18: 7 X 18 =
19: 18 x 16 = 19: 9x 11 =
200 9x13=___ 20: 17 X 16 =
21 B3 x1l=___ 21: 7 x 19 =
222 I0x16=__ 22: 19 x 19 =
23 15 x15=____ 23: 13 X 17 =
24: 19x15=______ 24: § X 13 =
25 16 x17=___ 25: 11 x 11 =
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